
3
4
5.
6.
7.

8.
9.

It turned out that the conflict was difficult to solve.

It turns out that the two parties are unprepared for taiks.

It turned out that there was no room for all of us.

It turned out that the task was not difficult.

It turns out that we are incapable of finding a way out of the
situation.

It proved that the language of the article was quite easy.

It proved that it was impossible to come to terms with the man.

10. It proves that it is difficult to learn English properly.

Exercise 80

Translate the sentences into English,

1. Он оказался очень внимательным сыном.
2. Оказалось, достаточно легко выучить разговорный

английский.

3. Оказывается, ты очень общительный.
4. Оказалось, что невозможно встретиться с ним наедине.
5. Ваши условия оказались неприемлемыми.
6. Переговоры оказались трудными.
7. Книга, которую мне дали, оказалась скучной.
8. Эта фирма оказалась надежным партнером.

Exercise 81

translate the sentences following Pattern 2 (c),

I ()ur ways never happened to cross.

2. I le happened to acquire an American accent when he stayed in
the United States.

3. There happen to be a lot of mistakes m your test
4. Do you happen to remember this fact?
5. He happens to have gained the reputation of a fair man.
6. She happens to be living in London now
7. I don't happen to remember this fact.
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Exercise 82

Rephrase the sentences according to Pattern 2 (c). Follow the model

Model: It so happened that the Celts were pushed by the Romans to
the north.
The Celts happened to be pushed by the Romans to the north.

1.
2.

3.
4.
5.

It happened that England was invaded from many sides.
It happens that the Celtic language has survived in Scotland and
Northern Ireland.
It happens that there is no obvious solution to the problem.
It so happened that French became the language of diplomacy.
It so happened that we didn't know each other at the time.

6. It happens that we have known each other since childhood.
7. It happened that I was present at the opening session.
8. It happened that when I came he was still being questioned.
9. It happened that everybody had taken the problem seriously.

10. It happens that I don't know this man.

Exercise 83
Translate the sentences into English.

1. Случилось так, что меня не было дома, когда ОН ЗВОНИЛ
2. Мы, случайно, раньше не встречались?
3. Происходит так, многие языки заимствуют все больше ело»

из английского.
4. Как произошло, что вы наконец смогли договориться4?
5. Так случилось, что обе стороны в это время вели переговоры

о мире.
6. Может случится так, что срок президентства будет продлен.
7. Я как-то не припоминаю ваше лицо.
8. Получается, что мы так и не нашли общего языка.
9. Как получилось, что он одержал верх в споре?

10. Где ты приобрел этот акцент?
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